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1: An installer needs to install multiple application instances. How is this done in Microsoft 

Dynamics AX 2009? 

A.The instances can be installed on the same machine, but the installer must provide a separate 

root directory for each application. 

B.The installer supplies an application instance name for each instance. Then, all applications are 

installed in the same root folder. 

C.There cannot be multiple Application instances on the same server. 

D.The installer will need to create a separate logical drive for each application instance. 

Correct Answers: B 

 

2: Which accounts should have permissions to the application file folder? Choose the 2 that apply. 

A.All clients. 

B.Application Object Server service. 

C.Windows administrators. 

D.Database server service. 

Correct Answers: B C  

 

3: An installer is getting ready to install the developer components of a Microsoft Dynamics AX 

2009 implementation. What SQL Server permissions are required to install the Microsoft 

Dynamics database in the Microsoft SQL Server instance? 

A.DBOwner role 

B.SecuirtyAdmin role 

C.DBCreator role 

D.SetupAdmin role 

Correct Answers: C 

 

4: An implementer is in the planning phases of a Microsoft Dynamics AX installation. He or she 

discovers that the company will have users outside of their domain who need access to the system. 

Which topologies might be options for this installation? Choose the 2 that apply. 

A.Intranet-Only Enterprise Portal. 

B.Standard Perimeter Network. 

C.Clustered Base Topology. 

D.Traditional Perimeter Network. 

Correct Answers: B D  

 

5: In a 64-bit implementation, which statement is true about the .NET business connector? 

A.The 32-bit .Net Business connector is installed because there is no 64-bit .NET business 

connector. 

B.The 64-bit .NET Business Connector is installed. 

C.Both the 32-bit and 64-bit .NET business connector are installed in the same path. 

D.Both the 32-bit and 64-bit .NET business connector are installed, but they must reside in 

different paths. 

Correct Answers: D 

 



6: Microsoft Dynamics AX 2009 is being implemented with multiple Application Object Servers 

and multiple clients. What is Microsoft's recommended database strategy for this type of 

implementation? 

A.Install the database server on each Application Object Server. 

B.Have one database server corresponding to each Application Object Server. 

C.Install a dedicated database server. 

D.Install a clustered database server. 

Correct Answers: C 

 

7: The total number of transactions per hour affects the database system needs when planning for 

appropriate system hardware needs. How is the number of transactions defined for purchase 

orders? 

A.Each purchase order is considered one transaction. 

B.Each purchase order line is considered one transaction. 

C.Each purchase order grouped by customer is considered a transaction. 

D.Purchase orders  transactions cannot be used to calculate database capacity. Use sales orders 

instead. 

Correct Answers: B 

 

8: An implementer is creating three different environments. One is for development, one is for 

testing and one is for production. What is the recommended setup for databases and application 

files? 

A.One database and three application file locations because each environment can share the same 

data. 

B.Three databases and three application file locations because each environment needs its own 

database and application files. 

C.Three databases and one application file location because each environment can share the 

application files but needs a separate database. 

D.Both B and C are correct. 

Correct Answers: B 

 

9: When installing Microsoft Dynamics AX 2009 using an Microsoft SQL Server database server, 

what is the correct database setup option? Choose the 2 that apply. 

A.Specify a SQL script to generate the database. 

B.Create a SQL Server database. 

C.Use one of the provided database templates. 

D.Connect to an existing SQL Server database. 

Correct Answers: B D  

 

10: An implementer wants to use the Microsoft Dynamics AX Client Configuration utility to 

connect a client to a different Application Object Server instance. What user group must the 

implementer be part of in order to access the client configuration utility? Choose the 2 that apply. 

A.Power Users 

B.All users 



C.Guests 

D.Administrators 

Correct Answers: A D  

 

11: When the Application Object Server user account is created in the database, to what roles is it 

assigned? Choose the 3 that apply. 

A.db_ddladmin 

B.db_datareader 

C.dbcreator 

D.db_datawriter 

Correct Answers: A B D  

 

12: Each instance of the Application Object Server is managed through which of the following? 

A.Registry Key entries. 

B.Database entries. 

C.Configuration Files. 

D.Config.ini files. 

Correct Answers: C 

 

13: An installer is planning to perform multiple installations of Microsoft Dynamics AX on the 

same computer. Which of the following can not have multiple installations on the same machine? 

Choose the 3 that apply. 

A.Application Files 

B.Enterprise Portal Server 

C.Reporting Server 

D.Application Integration Server 

Correct Answers: B C D  

 

14: In which environment is it recommended to use a domain account rather than a network 

services account? 

A.Test 

B.Production 

C.Development 

D.User 

Correct Answers: B 

 

15: In an implementation with multiple Application Object Servers in a cluster that is not using 

load balancing, when might it be necesarry to change the client configurations to connect clients to 

a different server? 

A.If a new AOS is added to the cluster. 

B.If the cluster is renamed. 

C.If an AOS is removed from the cluster. 

D.When multiple AOS instances reside on the same server. 

Correct Answers: C 


